RN 2 AR

JEARTE

e A ran
iR = o

1=k (2 HEpl=E

AR

2w/

RIS

= syllEaEy

MLETH (B 37%)






AT AT RAE R AR A B S i E TR (53 55)

SRS DJEART OE RAEREAARFREAHISAHMHIE TR (B3 75) 13 RIZEDD &
ZAIZE D,

(A T HEOHHIE)

1 AR TR ORISR Z N EH192, 635 T 23800 L Ak TR o#esE %
ﬁx)kﬁxﬂj%E%L%E%Lzz 853,846 T-M &9 2,

2 ik TR OMHIEDFIAD X5 L UMLK 53 & & OBFENT ONZHTIEZ O AR T
% %ﬂ 1R AR TEME) I2X5,

SR242 H 2 5 A

e N1 = N N S 1



0 137 137

0 137 137
15,138,467 211,366 15,349,833
15,138,467 211,366 15,349,833
413 40 453

413 40 453
2,417,802 102,287 2,315,515
2,094,083 4,261 2,089,822
323,719 98,026 225,693
155,426 83,379 238,805
155,426 83,379 238,805
22,661,211 192,635 22,853,846




15,024,098 195,800, 15,219,898
13,104,645 200,000| 13,304,645
105,053 4,200 100,853
231,666 4,745 226,921
146,287 0 146,287
85,379 4,745 80,634

73 40 113

73 40 113

19,672 1,540 21,212
19,672 1,540 21,212
22,661,211 192,635 22,853,846







AR
JEARTH [E BAd B AR R - 2R R =2 5
fIETHR (BE35) ([ZEETHMHE




. Aok o fi 1B

¥

" =

HoBl B

=

=
1 ¥ 4
0% A)
HHERTOF
5 [ R HE LRI 4, 882, 107
15 EEZ G 0
25 B 15, 138, 467
35 MEEINA 413
40 AL 2, 417, 802
45 fd 155, 426
50 FEULA 66, 996
[ A = B 22, 661, 211
(& HD
E: HERTO%H WhoE at
5 KearsE: 348,351 348,351
10 (RBRAG(T B 15,024,098 195,800 15,219,898
2 2 [E EAER AR TN AT 7,007,351 7,007,351
27 {RIEFHEH 231,666 /4,745 226,921
30 JEBROIE 73 40 113
40 G 19,672 1,540 21,212
45 Pl 30,000 30,000
73 H & 22,661,211 192,635 22,853,846




(HAL - T - %)

W OE o %
4, 882, 107 21. 4
137 137 0. 0
211, 366 15, 349, 833 67. 2
40 453 0. 0
AN102, 287 2, 315, 515 10. 1
83, 379 238, 805 1. 0
66, 996 0. 3
192, 635 22, 853, 846 100. O
Gl T - %)

R R
" i i | Mo
e Wz oom | TR

1.5
137 199,863 /4,200 66.6
30.7
11,503 /\16,248 1.0
40 0.0
1,540 0.1
0.1
137 211,366 40 /18,908 100.0




2 ® A

B4 B MERTOR | # E # i
15 [E Sz 4 0 137 137
10 [EEMHBh 4 0 137 137
35 SRR A B4 0 137 137
25 WS 4 15,138,467 211,366 15,349,833
0 REHE - KiBhe 15,138,467 211,366 15,349,833
5 PRIEFA S B E A4 15,138,467 211,366 15,349,833
35 WPEIA 413 40 453
5 B pEE FHUN A 413 40 453
5 R K O 2442 413 40 453
40 RS 2,417,802 A102,287 2,315,515
5 EEHE A S 2,094,083 A\4,261 2,089,822
SR EHEA S 2,094,083 A\4,261 2,089,822
10 Eeg A% 323,719 /\98,026 225,693
5 [E RAEFIRR 2 R A S 323,719 /\98,026 225,693
45 Hs 155,426 83,379 238,805
5 RS 155,426 83,379 238,805
5 fpEg 155,426 83,379 238,805
% A = B 22,661,211 192,635 22,853,846




(BT TFHD)

i
B BH
IX N\ %’E
5 S i R 4t BN 137 SCEMGRFERFIRAEN G e (E{R4ESER]
4 137
5 PRI B E AT 199,863 RN BEZE NS CEESE) B - (ERE S ]
& (@4 199,863
10 PRGBS 22 11,503] 1 REEEBEEIEGH oo EEEE=)
& FRlsefd4) 11,503
5FF M US4 4 40 E R RS TR (E{RESR]
40
5PRRFAR 2T R A /\1,834 (R ERRABI oo UEfRES )
4 A1,834
13 HPEE R —Fra i /2,800 HFEB IR —ERHRABIR oo (ERAE 4]
N A\2,800
15 Bz e e S5 373 1 WMBZZEACSTB R AR e (ERE4 ]
XA 373
5 [ B e e e = /\98,026 R R R SBASI (EEETY!
HemA s /\98,026
b HRBE: 83,379] 1 RUEEEMEEIGHT oo EESE D
83,379
1 5EHESZHS 2 5EZH4e 3 5MEINA 4 08AS 4 5Ee




3 K

‘ ‘ ) FHEAEDOHHENER
B IIE| H HIERTO% | # IE & i
X 4 &
10 {RBRAGT & 15,024,098 195,800 15,219,898
5 AT 13,104,645 200,000 13,304,645
5 — BRI 12,909,000 200,000 13,109,000 [H 7 H4> 137
BT E
V7 s 199,863
18 B GG S 105,053 /4,200 100,853
5 HESR R 105,000 /4,200 100,800 A E 4,200
27 IR EE 231,666 /\4,745 226,921
3RFEES SR 146,287 0 146,287
#
S5 R aES 146,287 0 146,287 [R37H4 11,503
e
— A /11,503
5 PREE e 85,379 /4,745 80,634
5 (R A N By 85,379 /\4,745 80,634 —fRHATE /4,745
30 SR ® 73 40 113
5 SR ® 73 40 113
5 R ERLRR 2 73 40 113 % O 1 40
B Y AVAR S
40 &7 H4 19,672 1,540 21,212
5 (B R4 N OH&E A InE 19,672 1,540 21,212
%
15 EEE 2 1,540 1,542 —fREATR 1,540
I | LR S 22,661,211 192,635 22,853,846




(HNL : THD

fifi
) BH
X AN £
19 B8, #l MU T4 200,000| 1 —HRBARERZPEEFARILLE e (E RS
200,000
19 B4, Wb RO T4 A4,200] 1 HEBR—EFEE oo (E{RESH]
4,200
BAYR B IE

4 HEE A400| 1 F—ZANVAGHEHEEF SR (ERES 3]
A\4,745

TES 2,600

13 Z=E6H /1,745
25 B4 40 1 FELMERHRBR LS SRNI RN e (EfR4E S
40
23 1B&EE. MM UE5 IR 1,540 1 [EiSE A SRS PRI e (ERES ]
1,540

1 OfRERAGMIE 2 7OR(EEFEE 3 OHERNIE 4 0FfE®



